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Term-End Examination

June, 2021
MEC-101 : MICROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as per
instructions given.

Section—I

Note : Answer any two questions from this Section.

20 each

1. Consider the linear demand and supply functions
given by D,=m+nP, and S, =u+vP_,
respectively, where D, represents quantity
demanded at time £, S, is quantity supplied

at period ¢, P, is the price at period ¢,
while P,_; represents the price in the previous

period.

P.T.O.

(@)
(1)
(iii)

(a)

(b)

(©
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Find the equilibrium price. 8
Compute the time path of price. 6

Give the condition for dynamic stability in
such a framework. 6

What is meant by an actuarially fair
game ? 6

Given the Von Neumann-Morgenstern
utility  function of an  individual,
U (W) = W2, where W stands for amount
of money. Comment upon attitude towards
risk of such an individual with the help of

a diagram. 6

Now, suppose this individual possesses a
factory building worth ¥ 1,600. If the
building catches fire, its value falls to
T 400. Let the probability of the building
catching fire be 1/4. On the basis of the
given information, find out whether the
individual would be willing to pay a risk
premium of ¥ 76 to the insurance company
in order to eliminate the risk associated

with the factory building. 8



3.

4.

5.
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(a) What i1s a CES production function ?
Discuss the range of its various
parameters. 8

(b) Consider a  production function
Q =A () f (K, L), where Q represents the
output, A (f) is the technical progress at
time period ¢, K and L are the two factors
of production. Using the technique of
differentiation, find the rate of growth of
output in terms of rate of growth of factors
(K and L) and technical progress [that is
change in A (f) over time]. 12

Differentiate between the following : 5 each

(1) Homogeneous and homothetic production
functions

(1) Collusive and non-collusive oligopoly

(111) Cooperative and Non-cooperative game
theory models

(iv) Pooling and separating equilibria

Section—II

Note : Answer any five questions from this Section.

5x12=60

Consider a consumer’s preferences over goods x
and y given by the utility function :

U(x,y) = x/2 y1/3

P.T.O.

8.
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Let the budget constraint be p,x+p,y =M,

where p, is the price of good x, p, the price of

good y and let consumer’s income be given

by M.

(a) Derive the indirect utility function. 5

(b) Express the utility maximisation problem
as the expenditure minimisation problem

and find the expenditure function. 7

(a) In relation with the dynamic games with
incomplete information, what is a ‘Belief’,

and how is Belief updating done ? 6

(b) When does a strategy become a
sequentially rational strategy ? In
connection to this, what is meant by the

continuation game ? 6

What do you mean by a Market Failure ? Using
example of an appropriate market structure,
explain how imperfect competition result in a

Market Failure ? 4+8

(a) Discuss the concept of excess capacity
associated with the monopolistic

competition. 4



(b)
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A monopolist operates under two plants 1
and 2. The marginal costs of the two plants

are given by :

MC,; =20+2Q; and MC, =10+ 5Q,

where Q1 and Q2 represent units of output
produced by plants 1 and 2 respectively.
If the price of this product is given by
20 — 3 (Q1 + Q2), how much should the firm
plan to produce in each plant, and at what

price should it plan to sell the product ? 8

Consider the following game :

Player 1

()

(b)
(©

(2, 8)

Determine the sub-game(s) of the above

game. 4
Find all the Nash equilibria of this game. 4

Find the sub-game perfect equilibrium of

the above game. Can we make use of the

P.T.O.
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backward induction method to find the

sub-game perfect equilibrium ? 4

10. (a) Discuss the significance of value judgments
in Welfare Economics. 6

(b) Compare and contrast the Benthamite
welfare function with the Rawlsian welfare
function. 6

11. Write short notes on the following : 3x4=12

(a) Adverse selection

(b)
(©
(d)

Elasticity of substitution
Hotelling’s lemma

Third degree price discrimination
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MEC-101 SEl D, 9F ¢ W AW T T &I WE, S,
I ¢ W AYfd 1 TS oK ki AGN, P, HHY
HeAT TwTTa ( 7e9TE ) t T a% H1 HHd, P_, 4 EI W HHd I
wfaffuc 3 81 37 ®orl & SMUR W
(um, 3. ) .
‘ (i) Hqfed &iHd Ja it 8
AT ueT oo
(i) hUd & GHT 9Y H AThHeT HINT 6
S, 2021 (iii) 39 YHR & | (framework) T TS
I H-101 : fee anfdfew favemor e =1 ¥1d FamEy 6
T - 3 e FRIFHTT FF ¢ 100 2. () smifeher Sfed ga o 39 1 e € 2 6
BT FEF @vE § 7 T AR W F Iw (@feed =fm & I ™ =pE-Ae
. ST oM U(W) = W2, S&l WHR
H1 AT WA €, % TR H @i i
HRT-1 eIl 9 W =afw & e W gfes

& foorg o fewof s 6

(1) 19 9 fF 39 AfR & T T 1,600 &

YF 20 qo & oXeR @ Wed B A% 3 9o

. A1 e werd W R H M o S ®, A SEeh! HiHd R
R T 400 T S 81 TH e H I WM

: T 1/4 21 39 & g8 GO & STHR W

I8 9aEt foh o1 98 SAfed wREE Yo 9
S, =u+vP, ey Sifed ¥ 91 & fae o\ s

P.T.O.

Tz : fafafaa & 9 f&=l @y & S <ifsm)

D, =m+nP,




3.

4.
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H T 76 Hi SitEH NHIE HT PO HH

% folu d9r =i 8
(%) CES 3dEd ®od &1 © 7 39& fara=
Yrael & foR W == S| 8

(@) 7 @ W™ AT wed W R

i
Q=A()f(K L)

el Q SEH, A(t) WA () W THAH!
Wifd, K @ L < SART & EEA g
3T dohleh 1 FART hid gL A&l
(K T L) a1 dehishl Wi (Tafy =
W A() H TRad) * FIE R F w9
T IURA HI Hofg & A HIFT) 12

o oo

fefafEad & 9 ST JaRy : TIF 5
(%) | T | Sced wed

(@) F9e |y TF IR-FH9e Gy TeusmR

() FEAfis o R-geAfw Ta fagr Ated

(¥1) Heherd Tl foem ™ Her

Q|ue—II

e : frafafes & & fFel g w & SW

SISy 5x12=60

P.T.O.

5.
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x qUT oy TEgS & fawa § Iuded w1 =
A MHAARId ITAFET %wad R < =

2

U (x,y) = al/2 y1/3

SHH T HWH px+p,y=M ¥, T p,
x O B HAA qA P,y TG B FAG T a0
M U FT ST T

(F)ITHR H SMYUR W AYAG ITANTAT Ho
M it 5
(@) ATHHRUT FHRT & €9 § ITANTC
SAfIFTHRT UL I TG HiST qd

= Hed i FAA IS 7
(F)qul oAl & WY TAHS T

(dynamic games) & gy o fava’ =
T © IR faveaw &l fF9 YeR TaaH
fRaT ST ® 2

6
(@) Teh AT hd SThiHe gfrd AT o=
Wt ¥ ? T WY W A o9
(continuation game) Y 1 AWE T ? 6

SR o1 fatherdl § o9 1 WHEd € 2 SUgH
IS WEAT & SR hl AN kY AT
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Hifve fe fFe JHR o190l R &t qRfvE

AR fowed o gt & ? 4+8
8. () Whifueer Yfqaifar 9 wafea  fmes
&TAT hi STAURON i == hiSC 4

(@)U THIHK HH I HREH 1 a1 2 |
SORA wW ¥l I wREE H g
AT e weR < gg R

MC, = 20 + 2Q,

SEl Q, A Q, HREH | qA HREM 2
SN SHHI: ST I ghEdl B A 39
a5 H HAT 20 -3(Q, +Qy) BN A W
2 9 BH Tde @ H fedw Sared
N R Ty HiTd T IR 1 = 2 8

9. TH=fafEd T W fo=m wifsT .

| (3, 4)
(1, 0)
faergt 1
(0, 2)
(2,8)
(F)3TH T & ITEA ARy 4

P.T.O.
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(@)3d @a &1 AR Ggad Fd i) 4

(F)IRF VA & IT@A YO Hed T
HIfST = FH ITEA U Hqed A i
ED fer RINE] AT (Backward induction)

fafr =1 9w Ghd © 2 4
10. (F)FHeAURR sefeey H goduew o &
g i ==l hifeld| 6

(@) Afem FAU Fod ql qafeldd  He
e % a9 gor Td faiy W=t
EAlEIY 6

11. frefafaa = dfia fewfoar fafae @ 3xa=12
(%) fchet =1
(@) yfqea= &f @
(1) BrfAT &1 gHI
(%) wied fasg =1 el wife
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